
 

 

 

Figure S1. Average punishment investment (+ s.d.) in the public goods game for the (a) second, (b) third, (c) 

fourth and (d) fifth round of punishment (pooled over all periods). Participants could either contribute into the 

public good, C, or defect, D. Hence, in CD a contributor punished a defector (CC, DC, DD, respectively; 

Friedman test: (a) χ² = 5.0, df = 3, n = 6, p = 0.17; (b) χ² = 2.95, df = 3, n = 6, p = 0.40; (c) χ² = 2.29, df = 3, 

n = 6, p = 0.52; (d) χ² = 2.6, df = 3, n = 6, p = 0.46).  
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